POWER TOOLS

®

1X

RON

Premium Quality

Gasoline Hedge Trimmer 700mm

www.ronixtools.com



RONIX

Premium Quality

www.ronixtools.com

Number | Name Number | Name Number | Name
1 Phillips large pan head 27 Piston pin 51 Carburetor paper pad

screw M4x14 28 Anti-wear pads 52 Carburetor
2 Easy starter assembly 29 Needle Roller Bearings 53 Damper handle
3 Decorative strips 30 Piston 54 Air filter seat
4 PhiIIips|,V|Iarge pan head 31 Piston ring 55 Damper

screw M5x12
5 Engine cover 32 Cylinder paper gasket 56 aTSXBSPhllllps Pan
6 Hexagon socket head cap 33 Hexagon socket head ead Screws

screws M6x12 screw M4x20 57 Hexagon socket head
7 Disk 34 High pressure package screw M5x55
8 M8x1 flange nuts 35 Insulation pads 58 A.ntl-spray plate
9 Magnetic flywheel 36 Hexagon socket head 59 Fine sponge

m <ot hoad combination screw 60 Coarse sponge filter
10 exagon socket hea M5x20 —

combination screw M5x30 . 61 Air filter cover
11 Large box 37 Inlte?ke plpe. 62 Sealing ring
12 Oil seal 12x22x7 38 Air intake pipe paperpad | '3 Lock Nut (S3501)
13 Bearing 6001 39 Spa.lrk plug . 64 Fuel tank damping
14 Half round key 40 Cylinder(Kovacaki type) 65 Fuel tank assembly
15 Crankshaft 41 Hexagon socket head

combination screw

16 Box paper pad M5x25
17 Cylindrical pin 4x8 42 Cylinder cover
18 Small box 43 Windshield
19 Clutch seat 44 Spacer 5x7x7
20 ©6x18x2flat pad 45 Hexagon socket head
21 Hexagon socket head combination screw

screw M6x18 M5x16
22 ®6 flat pad 46 M5 square nut
23 Clutch assembly 47 Muffler paper pad

(HRC40-50) -

48 Silencer
24 Wave pad
49 Hexagon socket head

25 Step bolt screw M5x50
26 G-shaped piston pin 50 Muffler cover

retaining ring

POWER TOOLS

4965

Gasoline Hedge Trimmer 700mm



